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Year 8
Mastering Ratio
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A bakery bakes small, medium and large pies.
The ratio small : medium : large is 3 : 5 : 2.

What fraction of the pies are large?
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One day 460 medium pies are baked.

Work out how many small pies are baked








The workers in a company are in the ratio female : male  =  1 : 5
What fraction of the workers are female? 
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The company has 150 female workers.
How many workers are there altogether? 
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Circle the correct model
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A box contains 192 pens,
They are red, green or blue.
A quarter of the pens are red.
The ratio green pens : blue pens  =  1 : 8
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How many blue pens are there? 
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Pierre and Alice are each paid the same amount for each hour they work.

4
Pierre is paid £240. He works for 5 of the time Alice works.

How much is Alice paid?
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Abox contains only orange counters, purple counters and green counters.

Acounteris taken, at random, from the box

3 7
The probability that it is purple is 10and the probability that it is green is 15.

Find the ratio of orange to purple to green counters.
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In a school show,

girls : boys=1:1
girls who sing : girls who do notsing=1:2

8 girls sing in the show.
How many students are in the show altogether?
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Sara, Solomon and Ebenezer share some money.
Sara takes /19 of the money.
Solomon and Ebenezer share the rest of the money in the ratio 1:4.
What percentage does Solomon receive?
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The counters in a bag are red or blue.
One fifth of the counters are red.

Work out the ratio red counters : blue counters
Circle your answer.

1:4 1:5
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